

MATRIX TRANSFORMATIONS IN SOME SEQUENCE SPACES

A. A. Ansari, Seraj Ahmad Khan and Nafis Ahmad*

Department of Mathematics & Statistics,
D. D. U. Gorakhpur University, Gorakhpur (U.P.) India
E-mail:- profaaansari@gmail.com, khanseraj86@gmail.com

*Department of Mathematics,
Shibli National P.G. College, Azamgarh (U.P.) India
E-mail:- 786naksl@gmail.com

Abstract: In this paper, we represent some sequence spaces and give the characterization of $(l(p), l_\infty)$, $(l(p), c)$, (w_p, c) and $(c_0(p), c_0(q))$.

Keywords: Sequence spaces, matrix transformation, summability.

2000 AMS Subject Classification: 40H05, 46A45.

Introduction

Let X, Y be two nonempty subsets of the space of all complex sequences and $A = (a_{nk})$ an infinite matrix of complex numbers $a_{nk}(n, k = 1, 2, \dots)$. For every $x = (x_k) \in X$ and every integer n we write

$$A_n(x) = \sum_{k=1}^{\infty} a_{nk}x_k$$

The sequence $Ax = (A_n(x))$, if it exists, is called the transformation of x by the matrix A . We say that $A \in (X, Y)$ if and only if $Ax \in Y$ when ever $x \in X$. If $p_k > 0$ and $\sup p_k < \infty$, we define (see Maddox [1])

$$l(p) = \{x : \sum k|x_k|^{p_k} < \infty\}$$

$$c(p) = \{x : |x_k - 1|^{p_k} \rightarrow 0 \text{ for some } 1\}$$

$$c_0(p) = \{x : |x_k|^{p_k} \rightarrow 0\}$$

$$l_\infty(p) = \{x : \sup |x_k|^{p_k} < \infty\}$$

$$w(p) = \left\{ x : \frac{1}{n} \sum_{k=1}^n |x_k - 1|^{p_k} \rightarrow 0 \text{ for some } 1 \right\}$$

If $p_k = p$ for all k , then $l_\infty(p), c_0(p) = c(p)$

$l(p) = l_p$ and $w(p) = w_p$

l_∞, c and c_0 are respectively, the Banach spaces of bounded, convergent and null sequences.

The purpose of this paper is to characterize the matrices in the classes $(l(p), l_\infty), (l(p), c), (w(p), c)$ and $(c_0(p), c_0(q))$.

The following notations are used through out for all integers $n \geq 1$, we write

$$Ax = (A_n(x))$$

If $A_n(x) = \sum_k a_{nk}x_k$ converges for each n .

For any two complex numbers a and b and $B > 0$

We write

$$|ab| \leq B(|a|^q B^{-a} + |b|^p) \quad (1)$$

where $p > 1$ and $\frac{1}{p} + \frac{1}{q} = 1$.

For all integers $n, m \geq 1$ and $N > 1$, we write

$$C(n, N, m, s) = \sum_{k=m}^s |a_{nk}|^{q_k} N^{-q_k}$$

where $1 \leq s \leq \infty$ and $\frac{1}{p_k} + \frac{1}{q_k} = 1$.

We put $C(n, N, 1, \infty) = C(n, N)$ and $C(N) = \sup C(n, N)$ for every integer $N > 1$.

Theorem 1: Let $1 \leq p_k < \sup p_k = H < \infty$ for every k . Then $A \in (l(p), l_\infty)$. If there is an integer $B > 1$ such that $C(B) < \infty$

Proof: Sufficiency

Let $x \in l(p)$ using inequality (1) we see that

$$|A_n(x)| \leq B(C(n, B)) + g^H(x) < B(C(B)) + g^H(x)$$

where $g^H(x) = \sum_k |x_k|^{p_k}$.

Necessity

Let $A \in (l(p), l_\infty)$ but $C(N) = \infty$ for every integer $N > 1$. Then $\sum_k a_{nk}x_k$ converges for every n and every $x \in l(p)$ and each A_n defined by $A_n(x) = \sum_k a_{nk}x_k$ is an element of $l^*(p)$. Since $l(p)$ is complete and since $\sup |A_n(x)| < \infty$ on $l(p)$

by uniform boundedness principal there exist a number M independent of n and x a number $\delta < 1$ such that

$$|A_n(x)| \leq M \tag{2}$$

For every $x \in s[0, \delta]$ and every n , where $s[0, \delta]$ denotes the closed sphere in $l(p)$ with center at the origin $0 = (0, 0, \dots)$ and radius δ . Now choose an integer $Q > l$ such that

$$Q\delta^H > G$$

By our supposition we have $C(Q) = \infty$ and so two cases are possible:

Either $C(n, Q) < \infty$ for every $n \geq 1$ or there exists $n \geq 1$ such that $C(n, Q) = \infty$. In the first case there exists $n \geq 1$ such that $C(n, Q) > 2$ and there exists $k_0 > 1$ such that

$$C(n, Q, K_0 + 1, \infty) < 1$$

Hence

$$C(n, Q, l, k_0) > 1$$

In the second case we may choose $k_0 > 1$ such that $C(n, Q, l, k_0) > 1$, so that in either case there exists $n \geq 1$ and $k_0 \geq 1$ such that

$$S = C(n, Q, l, k_0) > 1 \tag{3}$$

Define a sequence $x = (x_k)$ as follows

$$\begin{aligned} x_k &= \delta^{pk/H} (\text{sgn } a_{nk}) |a_{nk}|^{qk-1} S^{-1} Q^{-qk/pk} \text{ for } 1 \leq k \leq k_0, \\ &= 0 \text{ for } k > k_0 \end{aligned}$$

It is easy to see that $g(x) \leq \delta$ and that

$$|A_n(x)| = s^{-1} Q \sum |a_{nk}|^{qk} Q^{-qk} \delta^{H/pk} \geq Q\delta^H > G$$

Which contradicts (2) and completes the proof.

Theorem 2:

Let $p = p_k$ be as in theorem 1, then $A \in (l(p), c)$ iff

(i) The condition of theorem 1 hold

(ii) $\lim_{n \rightarrow \infty} a_{nk} = a_k$ for each k .

Proof

Let $l \leq p_k \leq H < \infty$ for every k , since $e_k = \{\delta_{nk}\} \in l(p)$.

The necessity of (ii) follows

For the sufficiency observe that for every integer $m \geq 1$ and every n we have

$$C(n, B, 1, m) \leq C(B) \leq \infty$$

Hence

$$\lim_{m \rightarrow \infty} \lim_{n \rightarrow \infty} C(n, B, l, m) \leq C(B)$$

i.e.

$$\sum_k |a_k|^{qk} B^{-qk} \leq C(B)$$

Therefore the series $\sum a_k x_k$ and $\sum a_{nk} x_k$.

Converges for every n and every $x \in l(p)$. For each $x \in l(p)$ we can choose an integer $m \geq 1$ such that

$$\sum_{k=m+1}^{\infty} |x_k|^{pk} < 1$$

By using the inequality (1) it is easy to check that

$$\sum_{k=m+1}^{\infty} |a_{nk} - a_k| |x_k| \leq 2B(2C + 1) \left(\sum_{k=m+1}^{\infty} |x_k|^{pk} \right)^{\frac{1}{H}}$$

It follows that

$$\lim_{n \rightarrow \infty} \sum_k a_{nk} x_k = \sum_k a_k x^k$$

This completes the proof.

Theorem 3:

Let $0 < p < 1$. then $A \in (w_p, c)$ if and only if

(i) $\lim_{n \rightarrow \infty} a_{nk} = a_k$ (k fixed)

(ii) $M(A) = \sup \sum 2^{r/p} A_r^l(n) < \infty$, $nr = 0$, where $A_r^l(n) = \max |a_{nk}|$ for each n , the maximum value is taken for r, k such that $2^r \leq k < 2^{r+1}$

Proof: Sufficiency

Suppose that the condition hold, since

$$M(A) = \sup \sum 2^{r/p} A_r^l(n) < \infty, \quad nr = 0$$

where $A_r^l(n) = \max |a_{nk}|$ for each n, the maximum is taken for k such that $r, 2^r \leq k < 2^{r+1}$

$$\begin{aligned} \sum_{k=1}^{\infty} |a_{nk}x_k| &= \sum_{r=0}^{\infty} \sum_r |a_{nk}x_k| \\ &\leq \sum_{r=0}^{\infty} \left(\sum_r |a_{nk}x_k|^p \right)^{1/p} \\ &\leq \sum_{r=0}^{\infty} A_r^l(n) 2^{r/p} \|x\|^{1/p} \\ &\leq M(A) \|x\|^{1/p} < \infty \end{aligned}$$

Whenever $x \in w_p$ so the series $\sum_{k=1}^{\infty} a_{nk}x_k$ is absolutely convergent for each n.

Let $1/p + 1/q = 1, 0 < p < 1$, so that $q < 0$. Then for any positive integer 's' and for any $m \geq 2^s$ we have for all n,

$$\sum_{k=m}^{\infty} |a_{nk}| \leq \sum_{r=s}^{\infty} \sum_r |a_{nk}| \leq \sum_{r=s}^{\infty} A_r^l(n) 2^r \leq M(A) 2^{s/q}$$

Since $q < 0$ it follows that $\sum_{k=1}^{\infty} |a_{nk}|$ is uniformly convergent in n then this together with (i) implies that

$$\lim_{n \rightarrow \infty} \sum_k a_{nk} = \sum_k a_k \tag{4}$$

Now take $x \in w_p$ and suppose

$$1/n \sum_{k=1}^n |x_k - l|^p \rightarrow 0 (n \rightarrow \infty)$$

Hence we write

$$\sum_k a_{nk}x_k = \sum_k a_kx_k + l \sum_k (a_{nk} - a_k) + \sum_k (a_{nk} - a_k)(x_k - l) \tag{5}$$

and from (i) and (ii) imply

$$\sum_{r=0}^{\infty} 2^{r/p} \max |a_k| \leq M(A)$$

Hence $\sum_k |a_k x_k| < \infty$ and the last sum in (5) has limit zero as $n \rightarrow \infty$. Thus by (4) we now have

$$\sum_k a_{nk} x_k \rightarrow \sum_k a_k x_k \text{ as } n \rightarrow \infty, \text{ for every } x \text{ in } w_p$$

This proves the sufficiency when $0 < p < 1$

Necessity

The necessity of (i) is trivial and we now prove the necessity of (ii). Suppose that $A_n(x) = \sum_k a_{nk} x_k$ exists for each $n \geq 1$ whenever $x \in w_p$. Then for each n and each $r \geq 0$ the functional $f_{rn}(x) = \sum_r a_{nk} x_k$ are in the dual space w_p , they are trivially linear and continuous since

$$|f_{rn}(x)| \leq A_r^l(n) 2^{r/p} \|x\|^{1/p}$$

It follows from Banach-Steinhaus theorem that for each n ,

$$\lim_s \sum_{r=0}^s f_{rn}(x) = A_n x \text{ is in } w_p$$

Hence

$$|A_n(x)| \leq \|A_n\| \|x\|^{1/p} \tag{6}$$

for each n we take any integer $s > 0$ and define $x \in w_p$ by $x_k = 0$ for $k \geq 2^{s+1}$,

$$x_{N(r)} = 2^{r/p} \operatorname{sgn} a_n; N(r), x_k = 0 (k \neq N(r)) \text{ for } 0 \leq r \leq s,$$

where $N(r)$ is such that $|a_n; N(r)| = \max |a_{nk}|$

By (6) we get

$$\sum_{r=0}^s 2^{r/p} A_r^l(n) \leq \|A_n\|$$

Hence for each n ,

$$\sum_{r=0}^{\infty} 2^{r/p} A_r^l(n) \leq \|A_n\| < \infty \tag{7}$$

Now the argument used in the sufficiency to prove that the series defining $A_n(x)$ was absolutely convergent gives

$$|A_n(x)| \leq \sum_{r=0}^{\infty} 2^{r/p} A_r^l(n) \|x\|^{1/p}$$

So that

$$\|A_n\| \leq \sum_{r=0}^{\infty} 2^{r/p} A_r^l(n) \quad (8)$$

From (7) and (8) imply

$$\|A_n\| = \sum_{r=0}^{\infty} 2^{r/p} A_r^l(n)$$

By Banach-Steinhaus theorem, the existence of $\lim A_n(x)$ on w_p implies that

$$\sup \|A_n\| = \sup \sum_{r=0}^{\infty} 2^{r/p} A_r^l(n) < \infty$$

which is (ii). This complete the proof.

Theorem 4:

Let p be any positive sequence and q be a bounded sequence. Then a matrix $A = (a_{nk}) \in (c_0(p), c_0(q))$ iff

(i) $|a_{nk}|^{q_n} \rightarrow 0$ ($n \rightarrow \infty$, each k)

(ii) $\lim_N \lim_n \sup \left(\sum_k |a_{nk}| N^{-1/pk} \right)^{q_n} = 0$

Proof

From (ii) the existence of a positive integer M such that

$$\sup \sum_{nk} |a_{nk}| M^{-1/pk} < \infty \quad (9)$$

Let us take $H = \sup q_k$ and observe that

$$|a_k + b_k|^{q_k} \leq c(|a_k|^{q_k} + |b_k|^{q_k})$$

where $c = \max(1, 2^{H-1})$. For the sufficiency we take $\epsilon > 0$ and let $x \in c_0(p)$. Since $c_0(p)$ is a (proper) subset of l_∞ we have $\|x\| = \sup |x_k| < \infty$.

By (ii) there exist N such that

$$\sup \left(\sum_{nk} |a_{nk}| N^{-1/pk} \right)^{q_n} < \epsilon \quad (10)$$

Also there exist r such that $|x_k| < N^{-1/pk}$ for all $k > r$. Hence

$$|A_n(x)|^{qn} \leq c \left[\|x\|^{qn} \left(\sum_{k=1}^H |a_{nk}|^{qn/H} \right) \right]^H + \left[\sum_k |a_{nk}| N^{-1/p} \right]^{qn}$$

Taking lim sup in this last inequality we see that since $q \in l_\infty$ (i) and (10) implies $Ax \in c_0(q)$

Necessity:

The necessity of (i) is obtained by taking $x = c_k$ we prove the necessity of (ii).

We may suppose since $c_0(q) = c_0(q/H)$, that $\sup q_k \leq 1$

Now $[c_0(p), c_0(q)] [c_0(p), l_\infty]$ and observe that $A \in [c_0(p), l_\infty]$ iff (9) holds for some integer M .

If $p \in l_\infty$ then the necessity of the result is readily shown by an application of the uniform boundedness principle.

Let us denote the lim sup in (ii) by B_N , so that the sequence (B_M, B_{M+1}, \dots) is decreasing the limit in (ii) certainly exists; suppose if possible that it is equal to $3a$, where $a > 0$, then there exist $n(1) > 1$ such that

$$\sum_{k>k(1)} |a_{n(1)k}| (M + 1)^{-1/pk} > (2a)^{1/qn(1)}$$

Hence by (9) there exists $k(1) > 1$ such that

$$\sum_{k>k(1)} |a_{n(1)k}| (M + 1)^{-1/pk} < (a/4)^{1/qn(1)}$$

Define

$$x_k = (sgn a_{n(1)k}) (M + 1)^{-1/pk} \text{ for } 1 \leq k \leq k(1)$$

Suppose that $n(1) < n(2) < \dots < n(i)$ and $k(1) < k(2) < \dots < k(i)$ has been chosen and that x_k has been defined for $k \leq k(i)$ choose $n(i + 1) > n(i)$ such that for $n = n(i + 1)$

$$\sum_{k \leq i} |a_{nk}| (M + i + 1)^{-1/pk} > (2a)^{1/qn}$$

and

$$\sum_{k=1}^i |a_{nk}|^{qn} < a/4$$

Next; we choose $k(i + 1) > k(i)$ such that for $n = n(i + 1)$

$$\sum_{k>k(i+1)} |a_{nk}| (M + i + 1)^{-1/pk} < (a/4)^{1/qn}$$

define

$$x_k = (\text{sgn } a_{n(i+1)k})(M + i + 1)^{-1/pk} \text{ for } k(i) < k \leq k(i + 1)$$

so that $x \in c_0(p)$, now for $n = n(i + 1)$ write the sum for $a_{nk}x_k$ over $k(i) < k \leq k(i + 1)$

as

$$\sum - \sum_i - \sum_{k > k(i+1)}$$

then,

$$\left| \sum_{1+k(i)} a_{nk}x_k \right|^{qn} > 2a - a/4 - a/4 = 3a/2 \tag{11}$$

By (11)

$$\begin{aligned} |A_n(x)|^{qn} &> 3a/2 - a/4 - \left(\sum |a_{nk}x_k| \right)^{qn} \\ &\geq 3a/2 - a/4 - a/4 \\ &= a \end{aligned} \tag{12}$$

Since $|x_k| < (M + i + 1)^{-1/pk}$ for $k > k(i + 1)$. But (12) is contrary to $Ax \in c_0(q)$. Hence (ii) is necessary.

References

- [1] Maddox, I. J., Elements of Functional Analysis, Cambridge University Press, 1970.
- [2] Chaudhary, B. and Nanda, S., Functional analysis with applications, Wiley Eastern Limited, 1989.
- [3] Lascarides, C.G. and Maddox, I. J., Matrix transformation between some class sequences, Proc. Cambridge Phil. Soc.-68 (1970)99.
- [4] Kizmaz, H., On certain sequence spaces, Canadian Math Bull. 24 (2) (1981), 126.
- [5] Maddox, I.J., Paranormed sequence spaces generated by infinite matrices, Proc. Cambridge Phil. Soc. 64 (1968), 335-340.
- [6] Nanda, S., Some sequence spaces and almost boundedness, Math Vesnik, 13(28) (1970), 179-186.

- [7] Robinson, A., On functional transformations and summability, Proc. London Math. Soc., 52 (1950), 132-160.
- [8] Cooke, R.G., Infinite matrices and sequence spaces, Dover Publ., 1955.
- [9] Maddox, I.J., Infinite matrices of operators, lecture notes in mathematics, 786, Springer-Verlag (1980).